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III Year (T.D.C.) Science Examination, 2018
STATISTICS
Paper—II

(Design of Experiments and Statistical Quality Control)

Time Allowed : Three Hours
Maximum Marks : 50

PART - A (@UsE-37) [Marks : 10
Answer all questions (50 words each).
All questions carry equal marks.
Tt 99 et €1 o T S e e St T A
Tt Wl F 37 9 § |
PART - B (@us-v) [Marks : 25

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

Yo ST | USH-USh T I U, F ure 99 Fw

TS Y9 1 ST 250 U W 1 7 2

Tt 99l & 3iF guE ¥
PART - C (@Us-¥) [Marks : 15
Answer any two questions (300 words each).
All questions carry equal marks.
W S T HIC | T T o1 SR 300 TS 31 7 21
|t 99 % 37 TEE €
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PART - A

(@ve-31)

1. Answer the following questions :

Freferfia et & we i
UNIT -1
(3TE-1)
(i) Define analysis of variance.
TEO favewor st aftsme el
(ii) What do you mean by linear model ?
[ T |/ 39 1 gee §2
UNIT - 1T
(FhTS-11)
(iii ) Explain the statistical model used in R.B.D.
R.B.D. ¥ v wifers! freyl = aagm |
(iv) What is error degree of freedom in 4x4 latin square
design. '
4x4 e =t srfirshea § 3fe it @A e T
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UNIT - III
(3hTE-111 )
(v) Give the situation in which a missing value can occur.
S URfeafdl #t waed fed fr o s T Hfeq
e 7 | |
(vi) Give formula of critical difference in L.S.D.
L.S.D. ﬁmﬁaﬁmmw%ﬁaﬁl
UNIT - IV
(F&E-1V )
(vii) Who developed the technique of control charts ?
Frear = 2 qehefier Y e fersnfiag e
(viii ) What are C-charts ?
C-91E 71 &2
UNIT - V
(3&E-V)
(ix) Define consumer's risk.
STHIGT St SfEw 1 wfesnfya wif |

(x) Define lot tolerance precentage defective (L.T.P.D.).
L.T.P.D. i qRenfirs sifsrd |
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PART - B
(Tus-=)
UNIT - 1
(3t3-1)
2. Describe the model used in the analysis of variance in a two

way classification and develop the analysis.

fgariiertor waor fagemor & 39w B ol 9iaeq &1 9o i
3R fageraor =1 faerm wifsT |

3. Describe the role of replication randomisation and local control

in the design of field of experiments.

&7 Wit etfirehea ® TRaft, afsime o wrte e
=1 Hewd GHFE |

UNIT - I

(3E-11)

4. _Give the complete analysis of C.R.D.
C.R.D. % goqui faveivor = gusmy |
5. Give the layout and analysis of 4x4 latin square design.
T 4x4 Afe =t sfirerea it T o faveror i)
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UNIT - I1I

(FeRTE-111 )

6. What is the use of missing plot technique ? Why there is no

missing plot technique for C.R.D. ?
ST deh-gfafl & @ wam €2 CR.D. ¥ fa sty dwe
wfafy = & 82 aoemed
7. Obtaina fdrmula for the single missing observa;cion in L.S.D.
e =t srfirheaT & w damr F q@ T w1 feufy F Twe
Y T Hifog |
UNIT - IV
(FFE-1V)
8. What is control chart ? How does a control chart help in ,

detecting lack of control in a process ? Discuss any one of
the control chart for attributes.

feror wfer =0 2 Frefao wfe o wom worm & foreaor &
19Ta b1 G Frprer § weraar e €2 1o & Frisor ofest o
q forelt T =it fad=mn wifs)
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9. What are C-chart ? Write down the procedure of determining

its control limits. Differentiate between C and P-charts.

C-Eﬂéw%?caléaﬁﬁaﬁmmﬁmmﬁﬁﬁxﬁmn
C d91 P =1ef &1 3R ot S |

UNIT -V

(3FE-V)
10. Describe single sampling plan.
Tl Sl st faeem sifed

11. Explain double sampling plan.

fewfiremm s 1 = Fifsa)

PART - C
(Eus-¥)
UNIT -1
(¥=h13-1)
12. Write notes on the following :
(a) Linear model and its different types
(b) Choice of shape and size of plots

(¢) Uses of transformation
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Frefafen W fomforat fafiey .
(a) Maw e sik so% fafis yox
(b) &9F F U T wY F ELlE|
(c) TURRU F
UNIT - II
($T3-11)
13. Give the analysis of R.B.D,

R.B.D. %1 favetyo 3 #iferg
UNIT - 111

(FwTE-TIn )
14. Obtain a formula for a single missing observation in R.B.D.
R.B.D. ﬁ@m%ﬁasﬁﬁﬁaﬁrﬁm@mﬁﬁw
UNIT - 1V
(F&T3-1V )
15. Explain the following :
(a) Tolerance limits
(b) Modified control limits
(¢) Specification limits
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=t = wmEEd

(a) Eed H Arg gl

(b) erafafda freor dmmd

(c) Efyfrerym fefEor dmmd
UNIT - V
(FFE-V)

16. Explain the following in detail :

freafafa = fomar § TwemEs :

(a) A.S.N. function

(b) A.0.QL

(¢) L.T.PD.
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